
vendas@invistatextil.com.br 

lucas@invistatextil.com.br 

(9 (19)99354 -9099 

\._ (19) 3457 -1419 

Rua do diamante, 82 -São Fernando -Santa Barbara D'Oeste -SP -CEP-13454-250 

Cnpj: 21.958.986/0001-87 - Delutex Comercio de Acessórios Têxteis LTDA. 

https://api.whatsapp.com/send/?phone=%2B5519993549099&text&type=phone_number&app_absent=0
tel:+551934571419


1  

PIRA-0001 PIRA-0002 PIRA-0003 

ENTER GRIPPER GAMMA98 ENTER GRIPPER BODY 
GAMMA98 INSERT BLOCK GAMMA98 

PIRA-0004 PIRA-0005 PIRA-0006 
SPRING LEVER GAMMA98 GUSSET PLATE GAMMA98/99 SCREW M2X5 

PIRA-0007 PIRA-0008 PIRA-0009 
HEXANGULAR NUT ENTER GRIPPER SOLE ENTER GRIPPER HOLDER 

PIRA-0010 PIRA-0011 PIRA-0012 

SCREW M2X10 SCREW M2X5 EXIT GRIPPER FOR FINE YARN 
GAMMA98 

PIRA-0013 PIRA-0014 PIRA-0015 
EXIT GRIPPER FOR COARSE 

YARN GAMMA98 EXIT GRIPPER BODY GAMMA98 HOOK WITH DOUBLE GROOVE 
GAMMA98/99 

PIRA-0016 PIRA-0017 PIRA-0018 
HOOK WITH SMOOTH 

GAMMA98/99 SCREW M2.5x6 SCREW M2X4 

PIRA-0019 PIRA-0020 PIRA-0021 

LEVER SMOOTH GAMMA98/99 LEVER DOUBLE GROOVE 
GAMMA98/99 FLAT PLATE GAMMA98/99 



2  

PIRA-0022 PIRA-0023 PIRA-0024 
FLAT SPRING GAMMA98/99 SCREW FOR FLAT SPRING LEVER OPENER GAMMA98/99 

PIRA-0025 PIRA-0026 PIRA-0027 
BUSH FOR LEVER OPENER SCREW M2.5X10 HOLDER FOR GAMMA98/99 

PIRA-0028 PIRA-0029 PIRA-0030 
SPRING PLASTIC HOLDER 98/99 EXIT GRIPPER SOLE 

PIRA-0031 PIRA-0032 PIRA-0033 
EXIT GRIPPER HOLDER SCREW FOR SPRING HOLDER WASHER 

PIRA-0034 PIRA-0035 PIRA-0036 
SCREW M2.5X10 HEXANGULAR NUT M2 SCREW M2X6 

PIRA-0037 PIRA-0038 PIRA-0039 

ENT GRIPPER GAMMA99 ENTER GRIPPER BODY 
GAMMA99 TYPE A 

ENTER GRIPPER BODY 
GAMMA99 TYPE B 

PIRA-0040 PIRA-0041 PIRA-0042 
ENTER GRIPPER BODY 

GAMM99 TYPE C 
ENTER GRIPPER BODY 

GAMM99 TYPE C 
ENTER GRIPPER HOLDER 

GAMMA99 



3  

PIRA-0043 PIRA-0044 PIRA-0045 

SMOOTH CLAMP GAMMA99 CLAMP GAMMA99 DOUBLE GROOVE CLAMP 
GAMMA99 

PIRA-0046 PIRA-0047 PIRA-0048 

GUSSET PLATE GAMMA98/99 ENTER GRIPPER SOLE SINGLE 
METAL LINING 

ENTER GRIPPER SOLE SINGLE 
NO METAL LINING 

PIRA-0049 PIRA-0050 PIRA-0051 
ENTER GRIPPER SOLE WITH 

DOUBLE METAL LINE 
ENTER GRIPPER SOLE DOUBLE 

W/O METAL LINING 
ENTER GRIPPER SOLE TWO 

LINING W/OUT METAL 

PIRA-0052 PIRA-0053 PIRA-0054 
EXT GRIPPER 2 LINES NO 

METAL EXIT GRIPPER BODY GAMMA99 EXIT GRIPPER SOLE DOUBLE 
METAL LINING 

PIRA-0055 PIRA-0056 PIRA-0057 
EXIT GRIPPER SOLE SINGLE 

METAL LINING 
EXIT GRIPPER SINGLE W/O 

METAL 
EXIT GRIPPER SOLE TWO 

LINING W/O METAL 

PIRA-0058 PIRA-0059 PIRA-0060 
ENTER GRIPPER GAMMA2002 

DOUBLE LINES W/O METAL 
ENTER GRIPPER BODY 

GAMMA2002 
ENTER GRIPPER CAP 

GAMMA2002 

PIRA-0061 PIRA-0062 PIRA-0063 
ENTER GRIPPER LEVER 

GAMMA2002 
ENTER GRIPPER SOLE 

GAMMA2002 DOUBLE LINES 
ENTER GRIPPER SOLE 

GAMMA2002 MODIFIED 



4  

PIRA-0064 PIRA-0065 PIRA-0066 
SCREW M2X4 SCREW M2.5X6 SCREW M2.5X5.5 

PIRA-0067 PIRA-0068 PIRA-0069 
EXIT GRIPPER GAMMA2002 
DOUBLE LINES NO METAL 

EXIT GRIPPER BODY 
GAMMA2002 

EXIT GRIPPER HOOK 
GAMMA2002 

PIRA-0070 PIRA-0071 PIRA-0072 
EXIT GRIPPER LEVER 

GAMMA2002 
EXIT GRIPPER SOLE 

GAMMA2002 DOUBLE LINES 
EXIT GRIPPER SOLE 

GAMMA2002 MODIFIED 

PIRA-0073 PIRA-0074 PIRA-0075 
SCREW M2.5X5.5 SCREW M3X6 SCREW M2.5X6 

PIRA-0076 PIRA-0077 PIRA-0078 

SPRING GAMMA2002 ENTER GRIPPER GAMMA FF ENTER GRIPPER BODY GAMMA 
FF 

PIRA-0079 PIRA-0080 PIRA-0081 
FIBRE BASE ENTER GRIPPER 

GAMMA FF 
THREAD GUIDE FOR GAMMA 

FF LEVER FOR GAMMA FF 

PIRA-0082 PIRA-0083 PIRA-0084 
LEVER GAMMA FF LEVER GAMMA FF LEVER GAMMA FF 

PIRA-0085 PIRA-0086 PIRA-0087 
SCREW M2X3 SCREW M2X4 SCREW M2.5X5.5 



5  

PIRA-0088 PIRA-0089 PIRA-0090 

HEXANG. NUT ENTER GRIPPER FOR SPECIAL 
NET GAMMAX2005 

ENTER GRIPPER BODY FOR 
PCNR-0112 

PIRA-0091 PIRA-0092 PIRA-0093 
GRIPPER SOLE FOR GAMMAX 

2005 LEVER GAMMAX2005 LEVER FF 

PIRA-0094 PIRA-0095 PIRA-0096 
LEVER GAMMAX2005 SUPPORT GAMMAX2005 ENTER GRIPPER PIC. GAMMAX 

PIRA-0097 PIRA-0098 PIRA-0099 
ENTER GRIPPER BODY FOR 

PCNR-0121 
ENTER GRIPPER GAMMAX 

COARSE YARN 
ENTER GRIPPER GAMMAX FINE 

YARN 

PIRA-0100 PIRA-0101 PIRA-0102 
GRIPPER BODY SPRING PLATE CLAMP 

PIRA-0103 PIRA-0104 PIRA-0105 
GRIPPER SOLE SPRING PLATE SCREW M2.5X4 FOR GRIPPER 

PIRA-0106 PIRA-0107 PIRA-0108 

SCREW M2.5X6 FOR GRIPPER SCREW M2X3 FOR GRIPPER 
PCNR-0124/25 

COMPLETE CLAMP LEVER FOR 
GRIPPER PCNR-0124 



6  

PIRA-0109 PIRA-0110 PIRA-0111 
ENTER GRIPPER GAMMAFF 

2005/S 
ENTER GRIPPER BODY 

GAMMAFF 2005/S 
EXIT GRIPPER COARSE YARN 

GAMMAFF 

PIRA-0112 PIRA-0113 PIRA-0114 

COMPLETE LEVER CLAMP EXIT GRIPPER FINE YARN 
GAMMAFF COMPLETE CLAMP LEVER 

PIRA-0115 PIRA-0116 PIRA-0117 

EXIT GRIPPER BODY GAMMAFF HOOK FOR EXIT GRIPPER 
GAMMAFF GRIPPER SOLE FOR GAMMAFF 

PIRA-0118 PIRA-0119 PIRA-0120 
BUSHING SHAFT FOR EXIT 

GRIPPER GAMMAFF 
SPRING PLATE FOR EXIT 

GRIPPER GAMMAFF LEVER PLATE GAMMAFF 

PIRA-0121 PIRA-0122 PIRA-0123 
SCREW M2.5X12 SCREW M2X4 SCREW M2.5X4.5 

PIRA-0124 PIRA-0125 PIRA-0126 

SCREW M2X5.5 EXIT GRIPPER GAMMAX HEAVY 
MODEL BODY FOR EXIT GRIPPER 

PIRA-0127 PIRA-0128 PIRA-0129 
HOOK OF EXIT GRIPPER 

GAMMAXFF LEVER EXIT GRIPPER GAMMAFF/2005 



 

 
 
7  

 
 

 

 
 

 

 
 

 

PIRA-0130 PIRA-0131 PIRA-0132 
EXIT GRIPPER GAMMA 

FF/2005/GAMMAX FOR 
EXIT GRIPPER GAMMA FF 2005- 

SII FOR COARSE GRIPPER BODY 

 
 

 

 

 

 
 

 

PIRA-0133 PIRA-0134 PIRA-0135 
ENTER GRIPPER GAMMAX 2005 

FOR NET 
TEFLON FOR 

GAMMA/GAMMAX 160mm 
TEFLON 150X15 FOR 
GAMMA/GAMMAX 

 

 

 

 

 

 
PIRA-0136 PIRA-0137 PIRA-0138 

TEFLON FOR 
GAMMA/GAMMAX 150X15MM 

DRIVE WHEEL PIC.GAMMA 97 
TEETH 

DRIVE WHEEL PIC. GAMMA 
115T FREE FLY MODEL 

 

 

 

 

 

 

PIRA-0139 PIRA-0140 PIRA-0141 
DRIVE WHEEL (CARBON FIBER) 

GAMMAX GUIDE HOOK GAMMA FF TYPE GUIDE HOOK GAMMA FF TYPE 
 

 

 

 

 

 

PIRA-0142 PIRA-0143 PIRA-0144 

SUPPORT OF TAPE GUIDE GUIDE HOOK 
GAMMA/GAMMAX GH FOR 

LOWER GUIDE HOOK 
GAMMA/X GH FOR SPUR YARN 

 

 

 

 

 
 

 
PIRA-0145 PIRA-0146 PIRA-0147 

UPPER GUIDE HOOK GAMMA/X 
GH FOR SPUN YARN 

UPPER GUIDE HOOK GAMMA/X 
FOR FILAMENT YARN LOWER GUIDE HOOK GAMMA 

 

 

 

 

 

 
PIRA-0148 PIRA-0149 PIRA-0150 



8  

LOWER GUIDE HOOK 
GAMMA/GAMMAX FOR SPUN 

YARN 

TAPE GUIDE HOOK 4MM 
GAMMA GO FOR SPUR YARN 

TAPE GUIDE HOOK 4MM 
GAMMA GO FOR FILA. YARN 

PIRA-0151 PIRA-0152 PIRA-0153 
TAPE GUIDE HOOK 3MM 

GAMMA/X GO FOR SPUR YARN 
GUIDE HOOKS 

GAMMAX/OPTIMAX FF 
FIXATION FOR GUIDE HOOK 

GAMMA/X 

PIRA-0154 PIRA-0155 PIRA-0156 
SEAL RING GAMMA GUIDE SUPPORT SLIDE GUIDE BLOCK RHS 

PIRA-0157 PIRA-0158 PIRA-0159 
GUIDE BLOCK LHS GUIDE RAIL 30MM GUIDE RAIL 90MM 

PIRA-0160 PIRA-0161 PIRA-0162 
SHAFT END ECCENTRIC SHAFT END PIPE L= 5M DIA.25X33 

PIRA-0163 PIRA-0164 PIRA-0165 
COMPLETE DUST COLLECTOR 

GAMMA COVER GAMMA SEAL RING 

PIRA-0166 PIRA-0167 PIRA-0168 
FILTER GAMMA BODY GAMMA INNER FILTER NET GAMMA 

PIRA-0169 PIRA-0170 PIRA-0171 
HANDLE LH GUIDE RAIL BASE RH GUIDE RAIL BASE 



 

 
 
9  

 
 

 

 
 

 

 
 

 

PIRA-0172 PIRA-0173 PIRA-0174 
GUIDE RAIL RH GAMMAX GH 

MODEL 
GUIDE RAIL LH GAMMAX GH 

MODEL 
BLACK BOX TAPE W=17MM 

PIC. GAMMA 
 
 

 

 
 

 

 

 
 

PIRA-0175 PIRA-0176 PIRA-0177 
GRIPPER OPENER GAMMA 

L=300 
SUPPORT OF TAPE GUIDE 

GAMMA 
GRIPPER OPENER GAMMA 

26X10X355 
 

 

 
 

 

 

 

PIRA-0178 PIRA-0179 PIRA-0180 

GRIPPER OPENER 
GAMMA/GAMMAX L=400 

GRIPPER OPENER OPTIMAX 
L=380 

GRIPPER OPENER 
GAMMA/GAMMAX FF 

400X18X10 
 
 

 

 

 

 

 

PIRA-0181 PIRA-0182 PIRA-0183 

OPENER GAMMA GRIPPER OPENER 
GAMMA/GAMMAX FIBRE GRIPPER OPENER 

 
 

 

 

 

 

 

PIRA-0184 PIRA-0185 PIRA-0186 
 

GRIPPER OPENER GAMMA 
MOTOR CUTTER LH 

GAMMA/X/OMNI/PLUS800/OP 
TIMAX 

STEP MOTOR OMNI/PLUS/LUS 
800 RH/GAMMA 

  

 

 

 

PIRA-0187 PIRA-0188 PIRA-0189 

MOBILE BLADE BRAZEDTIP 
OMNI-GAMMA MOTOR LH 

FIXED BLADE BRAZED TIP 
OMNI-GAMMA MOTOR LH 

MOTOR CUTTER RH 
GAMMA/X/OMNI/PLUS800/OP 

TIMAX 

  

 

 



10  

PIRA-0190 PIRA-0191 PIRA-0192 
MOBILE BLADE BRAZEDTIP 
OMNI-GAMMA MOTOR RH 

FIXED BLADE BRAZEDTIP OMNI- 
GAMMA MOTOR RH EXCENTER 

PIRA-0193 PIRA-0194 PIRA-0195 
SICISSOR BEARING PICANOL AIR 

JET CONNECTING ROD BEARING 

PIRA-0196 PIRA-0197 PIRA-0198 
FIXED BLADE FOR WEFT 

CUTTER GAMMA 
MOBILE BLADE FOR WEFT 

CUTTER GAMMA 
BUSHING SHAFT FOR BLADE 

PIC. 

PIRA-0199 PIRA-0200 PIRA-0201 
MOBILE BLADE FOR WEFT 

CUTTER GAMMA 4R 
FIXED BLADE FOR WEFT 

CUTTER 4R 
FIXED BLADE - BRAZED OMNI- 

GAMMA LH 

PIRA-0202 PIRA-0203 PIRA-0204 

LEVER GAMMAX FIXED BLADE FOR TUCK IN 
GAMMA/OPTIMAX 

MOBILE BLADE FOR TUCK IN 
GAMMA/OPTIMAX/OMNI 

PIRA-0205 PIRA-0206 PIRA-0207 
WEFT CUTTER ASSEMBLED 

GAMMA 
ROUND BLADE FOR E.D.C 

DEVICE GAMMAX/OPTIMAX GUIDE 

PIRA-0208 PIRA-0209 PIRA-0210 
COMPLETE CLUTCH BRAKE 

GAMMA 
MAGNE #1 PIC. 
GAMMA/OMNI DISC FOR BRAKE GAMMA 



 

 
 
11  

PIRA-0211 PIRA-0213 PIRA-0214 
MAGNET #3 FOR 

PIC.GAMMA/OMNI 
COMPLETE BRAKE UNIT 

GAMMA AFTER 
MAGNET FOR GAMMA AFTER 

2002/GAMMAX 
 

 

 

 

 

 

PIRA-0215 PIRA-0216 PIRA-0217 
DISC FOR GAMMA 

AFTER2002/GAMMAX 
COIL FOR LET-OFF MOTOR 

GAMMA SELVEDGE ELSY 

 

 

 

 

 

 

PIRA-0218 PIRA-0219 PIRA-0220 
CRANK ARM CRANK ARM GAMMA 8MM BRAKE BELT GAMMA 

 
 

 

 

 

 
 

 

PIRA-0221 PIRA-0222 PIRA-0223 
WEFT SELECTOR FINGER 

GAMMA/GAMMAX/OPTIMAX 
QUICK STEP MOTOR FOR 

SELECTOR GAMMA/GAMMAX SUPPORT PLATE FOR SELECTOR 
 

 

 

 

 

 

PIRA-0224 PIRA-0225 PIRA-0226 
 

THREAD TENSIONER 
 

MID ELECT. CARD GAMMA 
DISPLAY 

OMNI/OMP/GAMMA/X/OPTIM 
AX 

 

 

 

 

 

 

PIRA-0227 PIRA-0228 PIRA-0229 
DISPLAY MASK 

OMNI2000/OMNIPLUS800 
GAMMA 

 
POWER SUPPLY AC/DC 110W 

ELSY STEP MOTOR 
GAMMA/GAMMAX 

 

 

 

 

 

 

PIRA-0230 PIRA-0231 PIRA-0232 

ELSY STEP MOTOR 
GAMMA/GAMMAX 

LOAD CELL 
OMNI/PLUS/GAMMA/X/OPT. 

19CM 

PROXIMITY SWITCH PIC. WITH 
PLUG L=50MM 



 

 
 
12  

 

 

 

 

 

 

PIRA-0233 PIRA-0234 PIRA-0235 

PROXIMITY SWITCH L=40 WEFT DETECTOR(SINGL.)6H 
GTM-AS/GAMMA 

WEFT DETECTOR (DOUB.)6H 
GTM-AS/GAMMA 

 

 

 

 

 

 

PIRA-0236 PIRA-0237 PIRA-0238 
WEFT DETECTOR(SINGL.)4H 

GTM-AS/GAMMA 
WEFT DETECTOR (DOUB.)4H 

GTM-AS/GAMMA 
WEFT DETECTOR(SINGL.)8H 

GTM-AS/GAMMA 
 

 

 

 

 

 
PIRA-0239 PIRA-0240 PIRA-0241 

WEFT DETECTOR (DOUB.)8H 
GTM-AS/GAMMA IGBT SKM200GAH123DKL IGBT SKM200GAL123DKLD110 

 

 

 

 

 

 

PIRA-0242 PIRA-0243 PIRA-0244 
LOAD CELL GAMMA/DELTA 

L=16.5CM 
LOAD CELL OMNIPLUS/800, 

GAMMAX 
SEPERATOR FOR WARP STOP 

BAR GAMMA 
 

 

 

 

 

 

PIRA-0245 PIRA-0246 PIRA-0247 
WARP STOP BAR SEPERATOR 

GAMMA CONNECTOR WARP STOP BAR SUPPORT 
GAMMA/OMP 

 

 

 

 

 

 

PIRA-0248 PIRA-0249 PIRA-0250 
LOCKING PIECE SUPPORT BASE UPPER PLASTIC SEPARATEOR 

 
 

 

 
 

 

 
 

 

PIRA-0251 PIRA-0252 PIRA-0253 

CENTER GUIDE COMPLETE ASSEMBLED SPRING 
D12 BACK REST SPRING D12 



13  

PIRA-0254 PIRA-0255 PIRA-0256 
COMPLETE ASSEMBLED SPRING 

D10 BACK REST SPRING D10 COMPLETE ASSEMBLED SPRING 
D8 

PIRA-0257 PIRA-0258 PIRA-0259 

BACK REST SPRING D8 LOWER SCREW FOR BACK REST 
SPRING 

UPPER SCREW FOR BACK REST 
SPRING 

PIRA-0260 PIRA-0261 PIRA-0262 
COUPLING SET FOR OIL PUMP DISC1 FOR OIL PUMP DISC2 FOR OIL PUMP 

PIRA-0263 PIRA-0264 PIRA-0265 
FLEXIBLE COUPLING PLATE OR 

OIL PUMP OIL PUMP PIC. OIL PUMP PIC. 

PIRA-0266 PIRA-0267 PIRA-0268 
OIL FILTER GTM/GTM- 

AS/GTX/GAMMA/ONMI/PLUS TAKE UP CLUTCH TAKE UP CLUTCH 

PIRA-0269 PIRA-0270 PIRA-0271 
DISC FOR CLOTH ROLLER 

GAMMA ROLLER HOLDER PIECE GAMMA LOCKER 

PIRA-0272 PIRA-0273 PIRA-0274 
BEARING COVER 

GAMMA/GAMMAX THREADED SHAFT SUPPORT BLOCK 
GAMMA/GAMMAX 



 

 
 
14  

 

 

 

 

 

 

PIRA-0275 PIRA-0276 PIRA-0277 
BUSHING SLIDE SHAFT RHS TUCKER PICA. SHAFT RHS TUCKER PICA. 

 

 

 

 

 

 

PIRA-0278 PIRA-0279 PIRA-0280 

CUTTER RHS TUCKER PICA. CUTTER SUPPORT RHS TUCKER 
PICA. CLAMP LHS TUCKER PICA. 

 

 

 

 

 

 

PIRA-0281 PIRA-0282 PIRA-0283 
BEARING LH+RH TUCKER PICA. BEARING RHS TUCKER PICA. STUD RHS TUCKER PICA. 

 

 

 

 

 

 

PIRA-0284 PIRA-0285 PIRA-0286 
LEVER RHS TUCKER PICA. IDLER PULLEY TUCKER PICA. LEVER TUCKER PICA. 

 

 

 

 

 

 

PIRA-0287 PIRA-0288 PIRA-0289 
LEVER TUCKER PICA. SHAFT TUCKER PICA. BLOCK TUCKER PICA. 

 

 

 

 

 

 

PIRA-0290 PIRA-0291 PIRA-0292 
PLATE TUCKER PICA. LEVER TUCKER PICA. LEVER TUCKER PICA. 

 

 

 

 

 
 

 

PIRA-0293 PIRA-0294 PIRA-0295 
CLIP TUCKER PICA. GUIDE TUCKER PICA. SHAFT TUCKER PICA. 

 

 

 

 

 

 
PIRA-0296 PIRA-0297 PIRA-0298 



 

 
 
15  

GUIDE TUCKER PICA. GUIDE TUCKER PICA. SHAFT TUCKER PICA. 
 

 

 

 

 

 

PIRA-0299 PIRA-0300 PIRA-0301 
COVER TUCKER PICA. BUSH TUCKER PICA. SHAFT TUCKER PICA. 

 

 

 

 

 

 

PIRA-0302 PIRA-0303 PIRA-0304 
KEY 6X6X56 TUCKER PICA. CLAMPING RING TUCKER PICA. LEVER TUCKER 

 

 

 

 

 

 

PIRA-0305 PIRA-0306 PIRA-0307 

COVER TUCKER TUCK-IN NEEDLE RH 
OMNI/GAMMA/GAMMAX 

TUCK-IN NEEDLE LH 
OMNI/GAMMA/GAMMAX 

 

 

 

 

 
 

 

PIRA-0308 PIRA-0309 PIRA-0310 

ENTER GRIPPER GTM ENTER GTM GRIPPER FOR FINE 
YARN 

ENTER GRIPPER FOR COARSE 
YARNS GTM 

 
 

 

 
 

 

 
 

 

PIRA-0311 PIRA-0312 PIRA-0313 
ENTER GRIPPER BODY GTM LEVER FOR FINE YARN LEVER FOR COARSE YARNS 

 
 

 

 

 

 

 

PIRA-0314 PIRA-0315 PIRA-0316 
CLAMP SPRING HOLDER SPRING 

 

 

 
 

 

 

 

PIRA-0317 PIRA-0318 PIRA-0319 
RING 3X12.5X1.5 BUSH HEADLESS SCREW 3X4 



16  

PIRA-0320 PIRA-0321 PIRA-0322 
LEVER SCREW M2.5X4 SCREW 

PIRA-0323 PIRA-0324 PIRA-0325 
SCREW M3.5X4,5 PLATE SPRING 

PIRA-0326 PIRA-0327 PIRA-0328 
HOLDER FOR GTM ENTER 

GRIPPER 
PROTECTION SLIDE FOR ENTER 

GRIPPER HOLDER FOR ENTER GRIPPER 

PIRA-0329 PIRA-0330 PIRA-0331 

HOLDER FOR ENTER GRIPPER HOLDER EXIT GRIPPER GTM FOR FINE 
YARN 

PIRA-0332 PIRA-0333 PIRA-0334 
EXIT GRIPPER FOR COARSE 

YARNS GTM 
EXIT GRIPPER BODY GTM FOR 

COARSE YARN 
EXIT GRIPPER BODY GTM FOR 

FINE YARN 

PIRA-0335 PIRA-0336 PIRA-0337 
SPRING HOLDER SPRING SCREW M3X5 

PIRA-0338 PIRA-0339 PIRA-0340 
RING LEVER HOLDER GTM EXIT GRIPPER 



17  

PIRA-0341 PIRA-0342 PIRA-0343 
PROTECTION SLIDE FOR EXIT 

GRIPPER HOLDER FOR EXIT GRIPPER HOLDER FOR EXIT GRIPPER 

PIRA-0344 PIRA-0345 PIRA-0346 

DRIVE WHEEL GTM LP190 75T DRIVE WHEEL LP190 DRIVE WHEEL GTM LP220/240 
93T 

PIRA-0347 PIRA-0348 PIRA-0349 
DRIVE WHEEL GTM LP280 107T GUIDE HOOK GTM SCREW M3.0X8 

PIRA-0350 PIRA-0351 PIRA-0352 
GUARD GUARD BOLT FOR 6X16 

PIRA-0353 PIRA-0354 PIRA-0355 
BOLT FOR 6X12 NOZZLE NOZZLE 

PIRA-0356 PIRA-0357 PIRA-0358 
HOSE CONNECTOR CONNECTOR 

PIRA-0359 PIRA-0360 PIRA-0361 
HOSE 5M 25MMX33MM HOSE 5M 40MMX30MM DUST COLLECTOR GAMMA 



18  

PIRA-0362 PIRA-0363 PIRA-0364 

COVER FILTER GAMMA O-RING WITH 12MM WIDTH
FOR FILTER 

FILTER FOR CONTAINER 
GAMMA N.2 

PIRA-0365 PIRA-0366 PIRA-0367 
CONTAINER BODY FILTER 

GAMMA N.3 
FILTER NET GAMMA FOR DUST 

COLLECTOR 
PICANOL HANDLE OF AIR SUCK 

BARREL 

PIRA-0368 PIRA-0369 PIRA-0370 
REED HOLDER GTM L1940 SWORD SLAY SUPPORT 

PIRA-0371 PIRA-0372 PIRA-0373 
BLACK BOX TAPE 27MM GTM RACE BOARD L=670 SHUTTLE RACE GTM L=670 

PIRA-0374 PIRA-0375 PIRA-0376 
RACE BOARD SHUTTLE RACE L=50 MOBILE BLADE LH 

PIRA-0377 PIRA-0378 PIRA-0379 
SELVEDGE BLADE LH MOBILE BLADE RH SELVEDGE BLADE RH 

PIRA-0380 PIRA-0381 PIRA-0382 

WEFT MOBILE BLADE LH WEFT MOBILE BLADE LH SELVEDGE CUTTER LH FOR PIC. 
GTM/A/AS/X 

PIRA-0383 PIRA-0384 PIRA-0385 
SELVEDGE CUTTER RH FOR PIC. 

GTM/A/AS/X 
DRIVE CAM FOR MECHANIC 

SELVEDGE CUTTER WEFT CUTTER ASSEMBLY 



19  

PIRA-0386 PIRA-0387 PIRA-0388 

CUTTER COMPLETE CLUTCH BRAKE 
UNIT GTM/PAT 

MAGNET #1 GTM PAT-U/W 
220MM. 

PIRA-0389 PIRA-0390 PIRA-0391 
DISC #2 GTM PAT-U/W 

222MM. FLAT SPRING GTM ROTOR #3 GTM PAT-U/W 
220MM 

PIRA-0392 PIRA-0393 PIRA-0394 
MAGNET 4 GTM PAT-U/W 

262MM 
COMPLETE CLUTCH BRAKE 

GTM/PAT W/U COPPER 
MAGNET #1 GTM/PAT U/W 

220MM COPPER 

PIRA-0395 PIRA-0396 PIRA-0397 

DISC #2 GTM/PAT U/W 222MM FLAT SPRING GTM ROTOR #3 GTM/PAT U/W 
220MM COPPER 

PIRA-0398 PIRA-0399 PIRA-0400 
MAGNET #4 GTM PAT-U/W 

262MM 
COMPLETE SLOW MOTION 

CLUTH GTM 48T 
MAGNET #1 CLUTCH GTM 

200MM 

PIRA-0401 PIRA-0402 PIRA-0403 

GEAR #2 GTM 192MM 62T TOOTH WHEEL #3 GTM 
200MM 48T DISC #4 GTM 206MM 48T 

PIRA-0404 PIRA-0405 PIRA-0406 
MAGNET #5 GTM 190MM SPRING PLATE 98X73 GTM GEAR 



 

 
 
20  

 

 

 

 

 

 
PIRA-0407 PIRA-0408 PIRA-0409 
COUPLING BOARD QS-1 BOARD PWRG GTM 

 

 

 

 

 

 
PIRA-0410 PIRA-0411 PIRA-0412 

ALLU. SUPPORT FOR ENCODER ABSORBER FOR ENCODER ENCODER GTM/GTM- 
AS/GTX/PAT 

 

 

 

 

 

 
PIRA-0413 PIRA-0414 PIRA-0415 

DISPLAY PAT/GTM/GTX MEMBRANE PICANOL 
GTM/GTX/GTM-AS 

PROXIMITY SWITCH PICA. 
WITH 2PIN L=45 

 

 

 

 

 

 
PIRA-0416 PIRA-0417 PIRA-0418 

PROXIMITY SWITCH PICA. GTM- 
AS/GTX WITH 3PIN L=70 

PROXIMITY SWITCH PICA. GTM 
WITH 3PIN L=45 

PROXIMITY SWITCH PICA. 2PIN 
L=50 

 

 

 

 

 

 

PIRA-0419 PIRA-0420 PIRA-0421 
PROXIMITY SWITCH PICA. 3PIN 

L=50 
PROXITY SWITCH PICA. 2PIN 

L=50 MOTION TRANSDUCER 
 

 

 

 

 
 

 

PIRA-0422 PIRA-0423 PIRA-0424 
PROXIMITY SWITCH PICA.L 

GTM-AS/GTX 3PIN L=70 
WEFT-LIFTING 

ELECTROMAGNET BAR 
ALARM LIGHT COLUMN(BULB 

TYPE) 
 

 

 

 

 

 
PIRA-0425 PIRA-0426 PIRA-0427 

ALARM LIGHT COLUMN(LED 
TYPE) ALARM LIGHT LED BOARD OIL PUMP 50X64 

DELTA/OMNI/GTM 



 

 
 
21  

 

 

 

 

 

 

PIRA-0428 PIRA-0429 PIRA-0430 
WEFT DETECTOR(SINGLE)6 

POSI. GTM-AS/GAMMA 
WEFT DETECTOR (DOUBLE)6 

POSI. GTM-AS/GAMMA 
WEFT DETECTOR(SINGLE)4 

POSI. GTM-AS/GAMMA 
 

 

 

 

 

 

PIRA-0431 PIRA-0432 PIRA-0433 
WEFT DETECTOR (DOUBLE)4 

POSI. GTM-AS/GAMMA 
WEFT DETECTOR(SINGLE)8 

POSI. GTM-AS/GAMMA 
WEFT DETECTOR (DOUBLE)8 

POSI. GTM-AS/GAMMA 
 

 

 

 

 

 
PIRA-0434 PIRA-0435 PIRA-0436 

STAUBLI MODULE 20 
POSITIONS CABLE ROUND (QUICK MOTOR GTX/GAMMA) BEARING OF CAMBOX FOR 

PICANOL GTM LOOM 
 

 

 

 

 

 
PIRA-0437 PIRA-0438 PIRA-0439 

COLOR-SELECTION 
ELECTROMAGNET 

COLOR-SELECTING 
ELECTROMAGNET 

WEFT SELE. CABLE 2.9M FOR 
PIC.GTM 

 

 

 

 

 

 

PIRA-0440 PIRA-0441 PIRA-0442 
WEFT HOLDER FOR COLOR 

SELECTOR SHAFT TAKE UP CLUTCH 
 

 

 

 

 

 
PIRA-0443 PIRA-0444 PIRA-0445 

TAKE-UP DISC CLUTCH DISC FOR CLOTH 
ROLLER GAMMA TAKE UP GEAR 

 
 

 

 

 

 

 

PIRA-0446 PIRA-0447 PIRA-0448 
PINON SHAFT TAKE-UP BUSH COVER SPRING 



 

 
 
22  

 

 

 

 

 

 
PIRA-0449 PIRA-0450 PIRA-0451 

TUCK-IN NEEDLE RH 
GTX/GTM/GTM-AS 

TUCK-IN NEEDLE LH 
GTX/GTM/GTM-AS DISK ASSEMBLED AT1200 

 

 

 

 

 

 
PIRA-0452 PIRA-0453 PIRA-0454 

DISK AT1200 OUTSIDE DISK AT1200 YARN BRAKE SUPPORT AT1200 
 
 

 

 

 

 

 

PIRA-0455 PIRA-0456 PIRA-0457 
BLACK BOX TAPE W=27MM 

PIC. GTM YARN TENSIONER L=40MM PICANOL HANDLE OF AIR SUCK 
BARREL 

 

 

 

 

 
 

 

PIRA-0458 PIRA-0459 PIRA-0460 
SHOCK ABSORBER DUMPER 

PIC.GTM/GTM-AS/GTX GEAR 26T FOR CLOTH ROLLER ENTER GRIPPER GTM-AS/GTX 
FOR FINE YARN 

 

 

 
 

 

 
 

 

PIRA-0461 PIRA-0462 PIRA-0463 
ENTER GRIPPER GTM-AS/GTX 

FOR COARSE YARN GRIPPER BODY GTM-AS/GTX LEVER GTM-AS/GTX 

 
 

 

 
 

 

 
 

 

PIRA-0464 PIRA-0465 PIRA-0466 
HOLDER LONG SIDE PROTECT STRIP SHORT SIDE PROTECT STRIP 

 

 

 
 

 

 

 

PIRA-0467 PIRA-0468 PIRA-0469 

SPRING PLATE GTM-AS FOR ENTER 
GRIPPER SPRING HOLDER 



23  

PIRA-0470 PIRA-0471 PIRA-0472 
OPENER GUIDE FLAT SPRING FOR COARSE 

PIRA-0473 PIRA-0474 PIRA-0475 

FLAT SPRING NORMAL YARN BLACK FLAT SPRING FOR 
GRIPPER PCNR-0700 BUSHING 

PIRA-0476 PIRA-0477 PIRA-0478 
SCREW FOR SIDE PROTECT SCREW M2X6 SCREW M2X4 

PIRA-0479 PIRA-0480 PIRA-0481 

HEADLESS SCREW M3X6 ENTER GRIPPER HOLDER GTM- 
AS/GTX 

LONG GUIDE FOR GRIPPER 
HOLDER 

PIRA-0482 PIRA-0483 PIRA-0484 
SHORT GUIDE FOR GRIPPER 

HOLDER 
EXIT GRIPPER GTM-AS FOR 

COARSE YARN 
EXIT GRIPPER GTM-AS FOR 

FINE YARN 

PIRA-0485 PIRA-0486 PIRA-0487 

GRIPPER BODY FOR FINE YARN GRIPPER BODY FOR COARSE 
YARN LEVER FOR COARSE YARN 

PIRA-0488 PIRA-0489 PIRA-0490 
LEVER FOR FINE YARN SPRING SPRING HOLDER 



 

 
 
24  

 

 

 
 

 

 

 

PIRA-0491 PIRA-0492 PIRA-0493 
BUSHING RING SCREW M2.5X6 SCREW M2.5X6 

 
 

 

 
 

 

 
 

 

PIRA-0494 PIRA-0495 PIRA-0496 
EXIT GRIPPER HOLDER GTM- 

AS/GTX 
LONG GUIDE FOR GRIPPER 

HOLDER 
SHORT GUIDE FOR GRIPPER 

HOLDER 
 

 
 

 
 

 

PIRA-0497 PIRA-0498 PIRA-0499 
PLATE GTM-AS FOR EXIT 

GRIPPER DRIVE WHEEL GTM-AS H190 BLACK BOX TAPE W=24 PIC. 
GTX/GTM-AS 

 

 

 

 

 

 

PIRA-0500 PIRA-0501 PIRA-0502 
SUPPORT BASE 20CM NARROW SUPPORT BASE 10CM NARROW SUPPORT BASE 5CM NARROW 

 

 

 

 

 

 

PIRA-0503 PIRA-0504 PIRA-0505 
DRIVE WHEEL GTX/GTM-AS 

190-75 TEETH 
DRIVE WHEEL GTX/GTM-AS 

220-93 TEETH GUIDE HOOK FOR GTM-AS 

 
 

 

 

 

 

 

PIRA-0506 PIRA-0507 PIRA-0508 

SUPPORT BASE 67CM WIDER FIXED BLADE FOR WEFT 
CUTTER 

MOBILE BLADE FOR WEFT 
CUTTER 

 

 

 

 

 

 

PIRA-0509 PIRA-0510 PIRA-0511 

SUPPORT BLOCK COMPLETE CLUTCH BRAKE 
GTM-AS COPPER 

MAGNET #1 FOR CLUTCH GTM- 
AS 



25  

PIRA-0512 PIRA-0513 PIRA-0514 

DISC #2 FOR CLUTCH GTM-AS STEEL WASHER FOR CLUTCH 
GTM-AS 

ROTOR #3 FOR CLUTCH GTM- 
AS COPPER 

PIRA-0515 PIRA-0516 PIRA-0517 
MAGNET #4 FOR CLUTCH 

GTX/GTM-A/GTM-AS 
COMPLETE SLOW RUNNING 

PIC. GTM-AS 
MAGNET FOR PIC. GTM-AS 

SLOW RUNNING 

PIRA-0518 PIRA-0519 PIRA-0520 
TOOTHED WHEEL FOR PIC. 
GTM-AS SLOW RUNNING 

TOOTHED DISC FOR PIC. GTM- 
AS SLOW RUNNING 

COMPLETE WEFT FINDING 
GTMA/AS/GTX 

PIRA-0521 PIRA-0522 PIRA-0523 
TEETH DISC GTM/A/AS/GTX 

WEFT FINDING 
TEETH DISC GTM/A/AS/GTX 

WEFT FINDING 
MAGNET GTM/A/AS/GTX 

WEFT FINDING 

PIRA-0524 PIRA-0525 PIRA-0526 
COMPLETE CLUTCH BRAKE GTX MAGNET #1 FOR GTX DISC #2 FOR GTX 

PIRA-0527 PIRA-0528 PIRA-0529 

#3 FOR GTX COPPER 
COMPLETE CLUTCH BRAKE 

GTX/GTM-A/GTM-AS COPPER 
TYPE 

MAGNET #1 FOR GTX/GTM- 
A/GTM-AS COPPER TYPE 

PIRA-0530 PIRA-0531 PIRA-0532 
MAGENT #3 FOR GTX/GTM- 

A/GTM-AS COPPER TYPE 
ENTER GRIPPER OPTIMAX GC 

TYPE 
SOLE FOR ENTER GRIPPER 

OPTIMAX 



26  

PIRA-0533 PIRA-0534 PIRA-0535 
ENTER GRIPPER OPTIMAX FOR 

COARSE YARN LEVER FOR COARSE YARN EXIT GRIPPER PIC. OPTIMAX 

PIRA-0536 PIRA-0537 PIRA-0538 
HOOK PIC. OPTIMAX LEVER BASE 

PIRA-0539 PIRA-0540 PIRA-0541 

SPRING EXIT GRIPPER OPTIMAX GC 
TYPE 

SOLE FOR EXIT GRIPPER 
OPTIMAX 

PIRA-0542 PIRA-0543 PIRA-0544 
GUSSET TEFLON 153x6,5mm 

FOR PICANOL OPTIMAX 
GUSSET TEFLON PICANOL 
OPTIMAX 150x20x6mm 

GUIDE HOOK GC TYPE 
OPTIMAX 

PIRA-0545 PIRA-0546 PIRA-0547 
DRIVE WHEEL PIC.OPTIMAX 

121T 
DRIVE WHEEL PIC. OPTIMAX FF 

107T ORIGINAL 
GUIDE RAIL LH PIC. OPTIMAX 

GC TYPE 

PIRA-0548 PIRA-0549 PIRA-0550 
GUIDE RAIL RH PIC. OPTIMAX 

GC TYPE FIXATION MOBILE BLADE OPTIMAX 

PIRA-0551 PIRA-0552 PIRA-0553 
FIXED BLADE OPTIMAX COMPLETE BRAKE DISK DISK FOR BRAKE PCNR-0944 



27  

PIRA-0554 PIRA-0555 PIRA-0556 
FRICTIONAL PAD FOR PCNR- 

0944 LOAD CELL OPTIMAX L=22CM IGBT SKM200GAH 126DKLT 
PIC.OPTIMAX 

PIRA-0557 SX-000004 SX-000018 
IGBT SKM200GAL 126DKLD 

PIC.OPTIMAX FRICTION DISC OIL PUMP GAMMA 

SX-000020 SX-000039 SX-000075 

WEFT CUTTER COMPLETE WARP STOP MOTION BAR 
GTM-AS-190CMS LOOM GREASE LINE PIPE D2xD4 RED 

SX-000076 SX-000077 SX-B52564 
GREASE LINE PIPE D2.5xD4 

WHITE HOSE D10xD17 CYL. BEARING (35/72) SKF 
NU2207ECP/C3 

SX-B52852 SX-B52853 SX-B52915 
GUIDE RAIL PIC. GTX GUIDE RAIL PIC. GTX GUIDE RAIL PIC. GTX 

SX-B52966 SX-B55142 SX-B79175 
GUIDE RAIL PIC. GTX DRIVE CAM NOSE 

SX-B88162 SX-B90338 SX-BA214862 
INTERMEDIATE SHAFT PIN PICANOL MOTOR COVER 



28  

SX-BA215286 SX-BA220529 SX-BA243400 
HARNESS GUIDE GUIDE PIECE SPRING 

SX-BA302313 SX-BA302314 SX-BA311048 
TEMPLE SUPPORT S.S GAMMA 

LHS 
TEMPLE SUPPORT S.S GAMMA 

RHS 
AIR FILTER COPPER 

OMNIPLUS800 

SX-BA706030 SX-BE151395 SX-BE300705 

BOLT M6x30 FOR REED MBL-3 PRINT (USED 
CONDITION) 

ELCA MOTOR FOR PICANOL 
(ORIGINAL) 

SX-BE302460 SX-BE304289 SX-BE81018 

TRIAX-2 PB-3 BOARD TEMPLE CYLINDER FOR 
PICANOL WITHOUT NOSE 


	Picanol-Pinça
	PICANOL PINÇA - 3

